BIOLOGY

BOOKS - EDUCART PUBLICATION

SAMPLE PAPER 3



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. Identify 'd" in the given figure.

A. Synergids

B. Antipodals


https://dl.doubtnut.com/l/_fJEyX4YGIiqb

C. Filiform apparatus

D. Central nuclei

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_fJEyX4YGIiqb

2. |dentify X and Y, respectively:

Famsrra
Mo ans

hAiddle piecs
Y

Tail

A. X = Mitochondria, Y = Acrosome

B. X = Acrosome, Y = Mitochondria


https://dl.doubtnut.com/l/_O3DZs9Ndsc3O

C. X = Nucleus, Y = Acrosome

D. X = Acrosome, Y = Nucleus

Answer: B

o View Text Solution

3. In the megaspore tetrad formed by
megasporogenesis, out of the four cells only
one of the megaspores is functional while the
other three degenerate. The female

gametophyte (embryo sac) develops only from


https://dl.doubtnut.com/l/_O3DZs9Ndsc3O
https://dl.doubtnut.com/l/_x8D7TuNTHH2f

this functional megaspore. This method of
development of embryo sac from a single
megaspore is termed as monosporic
development. For example - Polygonum.

Study the graph and find out the stage in the
development of female gametophyte at which

the cell wall formation will take place.
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https://dl.doubtnut.com/l/_x8D7TuNTHH2f

A A

B.B

C.C

D. Both (a) and (b)

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_x8D7TuNTHH2f

4. Find out the correctly matched option.

Loter ‘ Function |
{A) | Tapatum Providing nourishment
to the developing
(B) | Epldermis Inhibiting the
dehlscence of anther.
(C) | Middle Inhibiting the
| layers dﬂﬂﬂ-w_lnfmﬂ'rlr
(D) | Endotheclum | Providing nourishmant
to the developing

i pollen grains.

A A

B.B

C.C

D.D


https://dl.doubtnut.com/l/_pWMfZuoQPN9C

Answer: A

o View Text Solution

5. Observe the following graph and answer.
The final product of sexual reproduction in
flowering plants is seed. It has the following
characteristics:

It is the fertilised ovule. - They are formed

inside the fruits.


https://dl.doubtnut.com/l/_pWMfZuoQPN9C
https://dl.doubtnut.com/l/_Cw170KbNjwv8

20

Segd 3

3’5 -

Cray 4

Which, among the given seed samples closer

to maturity?

A. Seed 1
B. Seed 2
C.Seed 3

D. Seed 4


https://dl.doubtnut.com/l/_Cw170KbNjwv8

Answer: A

o View Text Solution

6. Which one of the following is an invasive

plant which came to India as a contaminant

and is a major caus of pollen allergy in the

country?

A. Hibiscus sinensis

B. Parthenium

C. Eicchornia crassipes


https://dl.doubtnut.com/l/_Cw170KbNjwv8
https://dl.doubtnut.com/l/_HyLTBzbg6kfp

D. Triticum aestivum

Answer: B

o Watch Video Solution

7. Observe the given diagram and the table.

Answer the question that follows:

[Chromosomes)
Burmber
Per Call

a— 48 -

= 1] =

o= 13 =



https://dl.doubtnut.com/l/_HyLTBzbg6kfp
https://dl.doubtnut.com/l/_1jEJ41oZNeKL

Spermatogonia Undergo Mitosis
To Increase in Number!
Spermatogonia Increase In Size!

Each Spermatogonium is Diploid
And Has 46 Chromosomes.

|
|

o View Text Solution



https://dl.doubtnut.com/l/_1jEJ41oZNeKL

8. Which among these hormones are produced

during human pregnancy?

A. hCG

B. Relaxin

C. HPL (Human placental lactogen)

D. All of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8pDNz4VlnHZB
https://dl.doubtnut.com/l/_KhFNC7FITq12

9. Embryo sac is to ovule as is to an anther.

A. Stamen

B. Filament

C. Pollen grain

D. Androecium

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_KhFNC7FITq12

10. Which of the following statements are true

related to A, B?

! P
Increase hﬁﬂlﬂdﬂﬂ'ﬂﬂh}:‘-ﬂ'ﬂ hormaone

A. A are Leydig cells, B are Sertoli cells.

B. B are Sertoli, A are Leydig cells.


https://dl.doubtnut.com/l/_2IhsygC57jI3

C. A are responsible for stimulation of sper

miation factors.

D.B are responsible for stimulation of

spermiation factors.

Answer: D

o View Text Solution

11. Double fertilisation in angiosperms was

discovered by


https://dl.doubtnut.com/l/_2IhsygC57jI3
https://dl.doubtnut.com/l/_Hh57X681uGjN

A. Sergei Nawaschin

B. Strassburger

C.).C.Bose

D. Mendel

Answer: A

o Watch Video Solution

12. The technical term for a single cotyledon in

a Maize grain is:


https://dl.doubtnut.com/l/_Hh57X681uGjN
https://dl.doubtnut.com/l/_KrnGwCtRDNtq

A. Coleoptile

B. Scutellum

C. Coleorhiza

D. Plumule

Answer: B

° Watch Video Solution

13. Which of these retain the perisperm?

A. Beetroot


https://dl.doubtnut.com/l/_KrnGwCtRDNtq
https://dl.doubtnut.com/l/_2ZayNIci31dk

B. Mango

C. Maize

D. Coconut

Answer: A

o Watch Video Solution

14. Arrange the following steps in correct
order: (TRANSLATION):
(1) Joining of initiator tRNA with the start

codon by its anticodon through H-bonds.


https://dl.doubtnut.com/l/_2ZayNIci31dk
https://dl.doubtnut.com/l/_aY20TZOZ7lLz

(Il) The start codon - AUG, lies downstream to
this mRNA, which initiates the trans lation
process.

() A complex is formed by attachment of
small ribosomal subunit to 5' end of mRNA.

(iv) Chain elongation

A. (1), (I1), (1), (1V)

B. (IV), (111), (11), (1)

C. (1), (I, (1, (1v)

D. (1), (1), (1V), (1)

Answer: C


https://dl.doubtnut.com/l/_aY20TZOZ7lLz

o View Text Solution

15. Fruits are seen in only a few Papaya plants

while the flowers are present in all. This is

because:

A. It is a dioecious plant.

B. Fruit is formed by female Papaya plant. (

C. Female reproductive parts are present

only in some Papaya plants.

D. All of these.


https://dl.doubtnut.com/l/_aY20TZOZ7lLz
https://dl.doubtnut.com/l/_OWc8Bw4mcEWd

Answer: D

o Watch Video Solution

16. Solanum melongena plant produces 520
viable seeds after sexual reproduction. How
many male gametes would have played in
producing 520 viable seeds?

A. 1240

B.O

C.1040


https://dl.doubtnut.com/l/_OWc8Bw4mcEWd
https://dl.doubtnut.com/l/_9o8RSCIr1yM1

D. 1000

Answer: C

o Watch Video Solution

17. Eliminate the odd one out:

A. Vas deferens

B. Epididymis

C. Ampulla

D. Sertoli cells


https://dl.doubtnut.com/l/_9o8RSCIr1yM1
https://dl.doubtnut.com/l/_aiGQU17AkTid

Answer: C

o Watch Video Solution

18. Mendel chose Garden pea because:

(1) Annual plant with a short life cycle.

(I1) Many contrasting traits or characters were
available

(I11) Bisexual flowers

(V) Its utility for human consumption

Choose the correct option:


https://dl.doubtnut.com/l/_aiGQU17AkTid
https://dl.doubtnut.com/l/_FWg3IQyGnwGw

A. (1), (1)

B. (111),(1V)

C. (1), (1), (1IV)

D. (1), (1), (1)

Answer: D

° View Text Solution

19. The embryos produced from Polyembryony

are:


https://dl.doubtnut.com/l/_FWg3IQyGnwGw
https://dl.doubtnut.com/l/_aaH69gdb3AR3

A. Genetically similar

B. Genetically dissimilar

C. Can be Genetically similar/ dissimilar

D. None of these

Answer: C

o Watch Video Solution

20. Megasporogenesis happens N

A. Exine layer.


https://dl.doubtnut.com/l/_aaH69gdb3AR3
https://dl.doubtnut.com/l/_cp0qWOebHYT4

B. Nucellus

C. Tapetum

D. Both (a) and (b)

Answer: B

o Watch Video Solution

21. Pattern of inheritance where F; phenotype
does not resemble either of the two parents

and is in between the two is known as:


https://dl.doubtnut.com/l/_cp0qWOebHYT4
https://dl.doubtnut.com/l/_5r5SF2hzFAPd

A. Co-dominance

B. Incomplete dominance

C. Dominance

D. Both (b) and (c)

Answer: B

o Watch Video Solution

22. Syphilis is caused by

A. Mycobacterium syphilae


https://dl.doubtnut.com/l/_5r5SF2hzFAPd
https://dl.doubtnut.com/l/_roV97YkAo5Us

B. Treponema pallidum

C. Neisseria gonorrhoeae

D. HIV

Answer: B

o Watch Video Solution

23. .. is a bacteriophage that infects E.coli.

A. Alpha 60

B.T2


https://dl.doubtnut.com/l/_roV97YkAo5Us
https://dl.doubtnut.com/l/_gZvtpxaeADN3

C.TZ

D. Beta 60

Answer: B

o Watch Video Solution

24. A cistron is:

A. Part of a RNA polymerase

B. Type of a RNA polymerase

C. DNA segment coding for a polypeptide


https://dl.doubtnut.com/l/_gZvtpxaeADN3
https://dl.doubtnut.com/l/_Br5ABrvNBJQ4

D. Both (a) and (c)

Answer: C

o Watch Video Solution

1. Assertion (A): Condoms can play multiple
roles apart from preventing STD transmission.

Reason (B): Condoms form, an artificial barrier


https://dl.doubtnut.com/l/_Br5ABrvNBJQ4
https://dl.doubtnut.com/l/_5PTYuyBAK0i3

against delivery of sperms to the female

reproductive tract.

A.Both A and R are true and R is the

correct ex planation of A

B.Both A and R are true but R is not the

correct explanation of A

C.Ais true but R is false

D. Ais false but R is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5PTYuyBAK0i3

2. Assertion: Patients with STD's often go
undetected for a long period in our society.

Reason (B): Social stigmas, asymptomatic
patients contribute to the delay of timely

detection of STD's.

A.Both A and R are true and R is the

correct ex planation of A

B.Both A and R are true but R is not the

correct explanation of A


https://dl.doubtnut.com/l/_5PTYuyBAK0i3
https://dl.doubtnut.com/l/_v1fP4M1AJaZB

C.Ais true but R is false

D. A is false but R is true

Answer: A

o Watch Video Solution

3. Assertion (A): After the first sexual
intercourse, the Hymen breaks up.
Reason (B): The presence of an intact hymen is

an indicator of virginity.


https://dl.doubtnut.com/l/_v1fP4M1AJaZB
https://dl.doubtnut.com/l/_ZaTmbVkpQeyd

A.Both A and R are true and R is the

correct ex planation of A

B.Both A and R are true but R is not the

correct explanation of A

C.Ais true but R is false

D. Ais false but R is true

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ZaTmbVkpQeyd

4. Assertion (A): Genes for yellow body and
white eyes showed only 13 percent
recombination whereas genes for white body
and miniature wing showed 37.2 percent
recombination as they were loosely linked in
Morgan's experiment.

Reason (B): Genes conferring yellow body. and

white eyes are closely linked.

A.Both A and R are true and R is the

correct ex planation of A


https://dl.doubtnut.com/l/_eUflqWtR7Yk6

B.Both A and R are true but R is not the

correct explanation of A

C.Ais true but R is false

D. Ais false but R is true

Answer: A

o View Text Solution

5. Which among these are assisted

reproductive techniques?


https://dl.doubtnut.com/l/_eUflqWtR7Yk6
https://dl.doubtnut.com/l/_ChQ6NtYLEdpQ

(1) GIFT (l1) MRI

(1) 1csl (IV)ZIFT

A. (1) and (I)

B. (II) and (IV)

C. (), (1) and (1V)

D. (1), (1) and (IV)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ChQ6NtYLEdpQ

6. The ovarian cavity has another name. It is

also called as:

A. Nucellus

B. Locule

C. Micropylar region

D. Micropyle

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_mTb8iB26Uw06
https://dl.doubtnut.com/l/_cOV0gTXeHerE

7. Out of AB,C,D, whose secretion contains
Fructose which is essential for providing

energy to the sperms?

Dioegrormmatic Secoonal Mew of Male Pelvs
Shevniry Reproductive System

A A

B.B

C.C


https://dl.doubtnut.com/l/_cOV0gTXeHerE

D.D

Answer: A

° View Text Solution

8. The bagging technique in hybridization

experiments is applied to:

A. make sure that pollen is protected from

physical agents of pollination in the

initial growing phase.


https://dl.doubtnut.com/l/_cOV0gTXeHerE
https://dl.doubtnut.com/l/_TLI6mwnRzEuh

B. Obtain a random pollination event

C. To increase seed output

D. make sure that stigma is protected from

contamination from unwanted pollen

grains

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_TLI6mwnRzEuh

9. Which of the following statements are true

related to figure X and Y?

(1) X represents Cu-T


https://dl.doubtnut.com/l/_lLwufEPWb8ht

(1) X represents IMPLANT
() X and Y are condoms

(iv) Y represents an IUD

A. (1), (1)

B. (l1), (IV)

C. (1) ()

D. (1), (IV)

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_lLwufEPWb8ht
https://dl.doubtnut.com/l/_T7ICJyPJxQU3

10. Colostrum primarily contains ...

antibodies for the baby.

A. 1gA

B. IgM

C. gk

D.lIgG

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_T7ICJyPJxQU3

1. Hybrid seeds need to be essentially

produced year after year. Why?

A.(@) To cope up with segregation of

characters.

B. To preserve hybrid characters.

C. Both (a) and (b)

D. Correct option is not given

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_LaXrG9IHWdcM

12. Which event results in gain or loss of

chromosomes during cell division cycle?

A. Seggregation of chromosomes at Meta

phase.

B. Seggregation of chromosomes at

Anaphase.

C.Seggregation of chromosomes at Telo

phase.

D. Both (a) and (c)


https://dl.doubtnut.com/l/_LaXrG9IHWdcM
https://dl.doubtnut.com/l/_0pdTS0ws6PUV

Answer: B

o Watch Video Solution

13. A Punnett square can help in obtaining:

A. Genotypes

B. Phenotypes

C. Genotypic and Phenotypic ratios

D. All of these

Answer: D


https://dl.doubtnut.com/l/_0pdTS0ws6PUV
https://dl.doubtnut.com/l/_olPVR7zLlGpA

o Watch Video Solution

14. Autopolyploids are the organisms with:

A. Chromosomes are derived from different

species.

B. Multiple chromosomal sets that come

from multiple species.

C. Multiple chromosomal sets that come

from a single species.

D. Both (a) and (c)


https://dl.doubtnut.com/l/_olPVR7zLlGpA
https://dl.doubtnut.com/l/_CWiOfuviMbEV

Answer: B

° Watch Video Solution

15. In human beings, inheritance pattern of
traits cannot be studied by controlled crosses
in pea plant or other organisms and also in
humans the progeny produced is very small
and takes long time, therefore, pedigree
analysis provides a strong tool to trace the
inheritance of a specific trait, abnormality or

disease. A case displaying a pedigree across a


https://dl.doubtnut.com/l/_CWiOfuviMbEV
https://dl.doubtnut.com/l/_4AIEkSWRYk8L

family:

Study the pedigree chart given above and find

out whether the given hypothetical trait is:

A. Dominant

B. Recessive

C. No trait is present

D. Can't say


https://dl.doubtnut.com/l/_4AIEkSWRYk8L

Answer: A

o View Text Solution

16. A colour blind woman marries a man with

normal vision. Their sons are going to be:

A. All normal

B. Half colour blind and Half normal

C. One-fourth will be normal and Three

fourth will be colour blind.


https://dl.doubtnut.com/l/_4AIEkSWRYk8L
https://dl.doubtnut.com/l/_ModmxqmzIM1c

D. All colour blind.

Answer: D

o Watch Video Solution

17. In operon concept, regulator gene

functions as:

A. Inhibitor

B. Repressor

C. Regulator


https://dl.doubtnut.com/l/_ModmxqmzIM1c
https://dl.doubtnut.com/l/_9vQxyWM0eEo1

D. All of these

Answer: D

° Watch Video Solution

18. The concept of a transcriptionally

regulated system was first given by:

A. Avery and McLeod

B. Hershey and Chase

C. Francois Jacob and Jacque Monod


https://dl.doubtnut.com/l/_9vQxyWM0eEo1
https://dl.doubtnut.com/l/_Fp3WFFfr37r1

D. Watson and Crick

Answer: C

° Watch Video Solution

19. If RNA polymerase binds to the promoter

on a transcription unit during transcription in

a bacterium, it:

A. helps remove introns

B. inactivates the exons.


https://dl.doubtnut.com/l/_Fp3WFFfr37r1
https://dl.doubtnut.com/l/_uUW40ibluH6u

C. terminates the process

D. initiates the process

Answer: D

° Watch Video Solution

20. The given figure shows:



https://dl.doubtnut.com/l/_uUW40ibluH6u
https://dl.doubtnut.com/l/_IGH9CIR1hoER

A. Sex Determination In Humans

B. Sex Determination In Birds

C. Sex Determination In Butterflies

D. Sex Determination In Tigers

Answer: B

o View Text Solution

21 s proposed that there should be

some mechanism by which the code can be


https://dl.doubtnut.com/l/_IGH9CIR1hoER
https://dl.doubtnut.com/l/_uADYZ3wMA49V

read and also it can be linked to the amino

acids during translation process.

A. Crick

B. Avery

C. Owens

D. Orwell

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_uADYZ3wMA49V

22, X= s were found to be inheritable from
parents to children. Therefore, Y = became the

basis of paternity testing, in case of disputes.

A. X = Genetic abnormalities, Y = Southern

blotting.

B.X = Polymorphisms, Y = DNA
fingerprinting.

C.X = Blood anomalies, Y = Northern
blotting

D. X = DNA gradations, Y=HGP analysis


https://dl.doubtnut.com/l/_9rk7huwuKU7S

Answer: B

o View Text Solution

23. How many enzymes are required for the

breakdown of Lactose in E.coll?

A.one

B. two

C. three

D. four


https://dl.doubtnut.com/l/_9rk7huwuKU7S
https://dl.doubtnut.com/l/_Kn0b8riBQJUq

Answer: C

° Watch Video Solution

24. There are non-coding sequences in
eukaryotic genes called JUNK DNA. Exons are
the coding sequences while the Introns are
the non coding ones. The synthesised strand
of mMRNA has some intronic unwanted
sequences which are removed by Splicing. The

given graph shows the cistronic distribution in


https://dl.doubtnut.com/l/_Kn0b8riBQJUq
https://dl.doubtnut.com/l/_zmQcqQHbUCyQ

the structural gene in different organisms.

A B C 0]
Soructurol Genes, in Different Transcripthonal
Lirits in Different Orgonisms

A C

B.A

C.AB,D

D.B,C, D


https://dl.doubtnut.com/l/_zmQcqQHbUCyQ

Answer: C

o View Text Solution

|E%%iiiiil\

1. Erwin Chargaff (1950) - Chargaff analyzed the

DNA of different species and determined the
composition of A, T, C, and G bases in them. He
then formulated 'Chargaff's Rule' which states
that:

"The ratios between Adenine (A) and Thymine


https://dl.doubtnut.com/l/_zmQcqQHbUCyQ
https://dl.doubtnut.com/l/_xxX5Mn5Wr2lv

(T) and Guanine (G) and Cytosine (C) are
constant and equals to one in a double
stranded DNA."

One of the salient features of the Double helix
structure of DNA given by Watson and Crick
was that the DNA is made of two
polynucleotide chains. The backbone of the
polynucleotide chain is made wup of
sugarphosphate, and the nitrogenous bases
project inside.

Given below is a graph showing the
percentage of Adenine in tow different double

stranded DNA.


https://dl.doubtnut.com/l/_xxX5Mn5Wr2lv

Study the graph given above and find out the

percentage of Guanine in dsDNAT:

A.03

B.0.2

C.0.6

D. 045


https://dl.doubtnut.com/l/_xxX5Mn5Wr2lv

Answer: B

° View Text Solution

2. Erwin Chargaff (1950) - Chargaff analyzed
the DNA of different species and determined
the composition of A, T, C, and G bases in
them. He then formulated 'Chargaff's Rule'
which states that:

"The ratios between Adenine (A) and Thymine
(T) and Guanine (G) and Cytosine (C) are

constant and equals to one in a double


https://dl.doubtnut.com/l/_xxX5Mn5Wr2lv
https://dl.doubtnut.com/l/_rnld6SukM7B8

stranded DNA."

One of the salient features of the Double helix
structure of DNA given by Watson and Crick
was that the DNA is made of two
polynucleotide chains. The backbone of the
polynucleotide chain is made wup of
sugarphosphate, and the nitrogenous bases
project inside.

Given below is a graph showing the
percentage of Adenine in tow different double

stranded DNA.


https://dl.doubtnut.com/l/_rnld6SukM7B8

The bases in the two strands are paired

through:

A. Hydrogen bonds

B. Phosphodiester bonds

C. Glycosidic bonds


https://dl.doubtnut.com/l/_rnld6SukM7B8

D. Phosphoester bonds

Answer: A

o View Text Solution

3. Erwin Chargaff (1950) - Chargaff analyzed
the DNA of different species and determined
the composition of A, T, C, and G bases in
them. He then formulated 'Chargaff's Rule'
which states that:

"The ratios between Adenine (A) and Thymine


https://dl.doubtnut.com/l/_rnld6SukM7B8
https://dl.doubtnut.com/l/_i2r4QmCbt4Ai

(T) and Guanine (G) and Cytosine (C) are
constant and equals to one in a double
stranded DNA."

One of the salient features of the Double helix
structure of DNA given by Watson and Crick
was that the DNA is made of two
polynucleotide chains. The backbone of the
polynucleotide chain is made wup of
sugarphosphate, and the nitrogenous bases
project inside.

Given below is a graph showing the
percentage of Adenine in tow different double

stranded DNA.


https://dl.doubtnut.com/l/_i2r4QmCbt4Ai

~ 10 = - I

The two chains in the DNA double helix have:

A. An anti-parallel polarity

B. Parallel polarity

C. Partly parallel and partly anti parallel

D. None of these


https://dl.doubtnut.com/l/_i2r4QmCbt4Ai

Answer: A

° View Text Solution

4. Erwin Chargaff (1950) - Chargaff analyzed
the DNA of different species and determined
the composition of A, T, C, and G bases in
them. He then formulated 'Chargaff's Rule'
which states that:

"The ratios between Adenine (A) and Thymine
(T) and Guanine (G) and Cytosine (C) are

constant and equals to one in a double


https://dl.doubtnut.com/l/_i2r4QmCbt4Ai
https://dl.doubtnut.com/l/_v4PUiWxvyIEm

stranded DNA."

One of the salient features of the Double helix
structure of DNA given by Watson and Crick
was that the DNA is made of two
polynucleotide chains. The backbone of the
polynucleotide chain is made wup of
sugarphosphate, and the nitrogenous bases
project inside.

Given below is a graph showing the
percentage of Adenine in tow different double

stranded DNA.


https://dl.doubtnut.com/l/_v4PUiWxvyIEm

Consider the template strand given below: -—A
TGCATGCATAC-The sequence of RNA
that will be transcribed from the above
transcription unit along with its polarity will

be:

A. 5-UACGUACGUAUG-3'


https://dl.doubtnut.com/l/_v4PUiWxvyIEm

B. 3-UACGUACGUAUG-5'

C. 5'-UA CAUG C GUAUG-3'

D. 5-UACGUACGGAUG-3'

Answer: A

o View Text Solution

5. Erwin Chargaff (1950) - Chargaff analyzed
the DNA of different species and determined
the composition of A, T, C, and G bases in

them. He then formulated 'Chargaff's Rule'


https://dl.doubtnut.com/l/_v4PUiWxvyIEm
https://dl.doubtnut.com/l/_FeOpkWg9pOkZ

which states that:

"The ratios between Adenine (A) and Thymine
(T) and Guanine (G) and Cytosine (C) are
constant and equals to one in a double
stranded DNA."

One of the salient features of the Double helix
structure of DNA given by Watson and Crick
was that the DNA is made of two
polynucleotide chains. The backbone of the
polynucleotide chain is made wup of
sugarphosphate, and the nitrogenous bases
project inside.

Given below is a graph showing the


https://dl.doubtnut.com/l/_FeOpkWg9pOkZ

percentage of Adenine in tow different double

stranded DNA.

Study the graph given above and find out the

percentage of Cytosine in dsDNA2:

A.03

B. 0.


https://dl.doubtnut.com/l/_FeOpkWg9pOkZ

C.0.6

D. 0.4

Answer: B

o View Text Solution

6. Erwin Chargaff (1950) - Chargaff analyzed
the DNA of different species and determined
the composition of A, T, C, and G bases in
them. He then formulated 'Chargaff's Rule'

which states that:


https://dl.doubtnut.com/l/_FeOpkWg9pOkZ
https://dl.doubtnut.com/l/_3BmP2fGmruEP

"The ratios between Adenine (A) and Thymine
(T) and Guanine (G) and Cytosine (C) are
constant and equals to one in a double
stranded DNA."

One of the salient features of the Double helix
structure of DNA given by Watson and Crick
was that the DNA is made of two
polynucleotide chains. The backbone of the
polynucleotide chain is made wup of
sugarphosphate, and the nitrogenous bases
project inside.

Given below is a graph showing the

percentage of Adenine in tow different double


https://dl.doubtnut.com/l/_3BmP2fGmruEP

stranded DNA.

0
dsDMAL dsDMAZ

In ds DNA, "The ratios between Adenine (A)

and Thymine (T) and Guanine (G) and Cytosine

(C) are constant and equal to:

A 4

B.2


https://dl.doubtnut.com/l/_3BmP2fGmruEP

C.1

D. 22

Answer: C

o View Text Solution

7. Observe the diagram given below and
answer:
Which among these conforms to the function

of central dogma in biology wrt. the flow of


https://dl.doubtnut.com/l/_3BmP2fGmruEP
https://dl.doubtnut.com/l/_cFCDnN8flmUM

information:

faplication

tronscrption troresiation _
+ | RA|—— [Rpowedn
e
Terstarie
vran e ripthon
A. DNA to RNA

B. RNA to Protein

C. DNA to RNA to Protein

D. All of them

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_cFCDnN8flmUM

8. Observe the given figure and identify the

incorrect statement:



https://dl.doubtnut.com/l/_McFdiYwz2jPg

(I) Anticodon loop: It is a trinucleotide
sequence complementary to that of a
corresponding codon in a messenger RNA
(mMRNA) sequence. A total of 7 bases are
present in it. Out of that 3 form anticodon for
recognition and attachment to mRNA codon.
(1) Amino acid acceptor end: Amino acids bind
at this end. The site is at 3' end opposite to
the anticodon and has a CCA-OH group.

(1) T-loop: It helps in binding to the ribosome.
(IV)D-loop/DHU loop: It has the binding site for

enzyme acetyl phosphorylase.


https://dl.doubtnut.com/l/_McFdiYwz2jPg

A. (1), (1)

B. (1)

C.(IV)

D. (111), (1V)

Answer: C

° View Text Solution

9. Observe the given figure and identify the

incorrect statement:


https://dl.doubtnut.com/l/_McFdiYwz2jPg
https://dl.doubtnut.com/l/_tZVkuLOp3SCr
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(- the oparon.
Ry s ,
2 - — A presencs
Bl i Te[e]__"z 5] | 9] otinducer
} + Trorsr iption
e Nw
T rraRiHA
Emwnrnﬂm *ﬂ' * 4 Tr
> [-goinctosidose Permedsa [ronsecotylase
hﬂrcn;/—"1
x:

[rcpctiol pepreasor)

(I) Regulation of lac operon by repressor is a
negative regulation.

(11) In its mechanism, the repressor of the lac
operon binds to its operator and prevents the
expression of the concerned gene.

() The transcription of the lac/structural

genes depends upon the operator gene.


https://dl.doubtnut.com/l/_tZVkuLOp3SCr

(IV) The transcription of the lac/structur al

genes depends upon the regulatory gene.

A. (1), (1)

B. (IV)

C. (I

D. (111), (1V)

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_tZVkuLOp3SCr

10. Observe the diagram given below and

answer the question that follows:

In a typical nucleus, some region of chromatin

are loosely packed (and stains light) and are

referred to as:

A. Heterochromatin

B. Euchromatin


https://dl.doubtnut.com/l/_TZYJQLq4Dl7Q

C. Histones

D. NHC’s

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_TZYJQLq4Dl7Q

11. The given experiment proved that:

==

‘U}f“{ 50
ED | ©

P Endincutive (15
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I pupermeinrT | dersoad i sk Filon

In the given figure, the strength of linkage will

be higher in


https://dl.doubtnut.com/l/_hcyp07qa2h1K

A.DNA is the genetic material which is

passed from virus to bacteria.

B. only DNA, not the protein coat entered

the bacterial cell.

C.Both Aand B

D. Neither A nor B

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_hcyp07qa2h1K

12. Gregor Johann Mendel is known as the
"Father of genetics". He was the first one to
conduct the experiments to understand the
pattern of inheritance and variations in living
organisms. Mendel chose garden pea (Pisum
sativum) and conducted hybridization
experiments on it for seven years (1856-1863)
and proposed the 'Laws of Inheritance' in
living organisms. In his experiments, Mendel
performed artificial pollination or cross-
pollination with the help of emasculation

(removal of anthers) using several true


https://dl.doubtnut.com/l/_gv64A564ni7E

breeding pea lines. Mendel proposed "Law of

Dominance" and "Law of Segregation"”

[ Character.| Dominont TroR

—_—
Tall % Do

Stam langth

Pad shape

Seed chape

o | T e
(il #i

Law of purity of gametes is another name for

Law of segregation because:

A. characters do not blend


https://dl.doubtnut.com/l/_gv64A564ni7E

B. characters produce a intermediate new

character

C.both  characters appears in all

generations

D. none of these.

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_gv64A564ni7E

